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#include <stdio.h>
#define price 32
int main ()
{
int num,total;
num=10;
total=num * price;
printf("total=%d\n", total);
return 0;
}
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total=328
Press any key to continue
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#include <stdio.h>
int main()
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{
unsigned short a;
a=-1;
printf("%d\n",a);
return 0;
}
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a=-2147483648,;
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#include <stdio.h>
int main()
{
char c,d;
c="1"
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d=128;
printf("%d\n",c+1);
printf("%c\n",c+1);
printf("%c\n",d);
printf("%d\n",d);
return O;
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#include <stdio.h>

int main()

{
int a, b;
float d, e;
char cl, c2;
long f, g;
double m, n;
unsigned int x, y;
a=65,b=97,
cl="a";c2=""
d=23.145;¢ =-6.874;
f=10000; g =-20000;
m=3141.592627;n=0.123456789;
x =9527; y =40000;
printf("a=%c, b=%c\nc1=%d, c2=%c\nd=%6.2f, e=%6.2f\n", a, b, c1, c2, d, e);
printf("t=%ld, g=%1d\nm=%15.6f, n=%15.12f\nx=%u, y=%u\n".f, g m,n, x,y);
return O;
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3141 .592627, n= B.123456787080
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#include <stdio.h>
#include <math.h>
int main()
{ double a,b,c,disc,x1,x2,p,q;
scanf("%1f,%lf,%If",&a,&b,&c);
disc=b*b-4*a*c;
p=-b/(2.0%a);
q=sqrt(disc)/(2.0*a);
xl=p+q;  x2=p-q;
printf("x1=%5.2f\inx2=%7.2f\n",x1,x2);
return 0;
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#include <stdio.h>

main()

{
inti,a,b;
float x,y,z;
i=1;
X=+H;

}

printf("x=%f\ni=%d\n",x,1);
y=30.1234567,

z=xty;

printf("z=%f\n",z);
printf("z=%4.2f\n",z);
printf("z=%6.2f\n",z);
printf("z=%15.8f\n",z);
printf("z=%e\n" ,x+y);
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#include <stdio.h>
main()
{
char a,b,c;
a=60;b="0";c='Y";
putchar(a);
putchar(b);
putchar(c);
putchar("n');
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W FEFH 51T a=66;b="0";c="Y"; X} int a=66,b=79,c=89;
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a=getchar();
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b=getchar();

c=getchar();
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#include <stdio.h>
#include <math.h>
int main()
{
float p,r,n;
r=0.09;
n=10;
p=pow(1+r,n);
printf("p=%f\n",p);
return 0;
}
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#include <stdio.h>
int main()
{
int a,b;
float x,y;
char cl,c2;
scanf("a=%d b=%d",&a,&b);
scanf("%f %e",&x,&Yy);
scanf("%c%c",&cl,&c2);
printf("a=%d,b=%d,x=%f,y=%f,c1=%c,c2=%c\n",a,b,x,y,c1,c2);
return 0;
}
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#include <stdio.h>

int main ()

{
float h,r,1,s,5q,vq,vz;
float pi=3.141526;
printf"EHFAR AL, B E L"),
scanf("%f,%{f",&r,&h);

1=2%*pi*r; e AR
s=r¥r¥*pi; /IR s
sq=4*pi*rr; I EIRIERE T sq
vq=3.0/4.0*pi*r*r*r; I BRARF vq
vz=pi*r*rih; I EIRFEAR vz
printf(" 5 FH< A 1=%6.2f\n",1);

printf("[ERIFR A §=%6.2f\n",s);
printf("FERELHFN:  sq=%6.20\n",sq);
printf("FER AT : v=%6.2f\n",vq);

printf(" B AL AT A vz=%6.21\n",vz);

return 0;

}
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#include <stdio.h>
main()
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inti,a,b;
i=1;
a=i++;
printf("a=%d,i=%d\n",a,i);
b=+H;
printf("b=%d,i=%d\n",b,i);
a=i--;
printf("a=%d,i=%d\n",a,i);
b=--i;
printf("a=%d,i=%d\n",b,1);
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#include <stdio.h>

int main()

{
inti, j, m, n;
i=6: j=8;

m=++i; n=j++;
printf(“%d,%d,%d,%d\n”,i,j,m,n);
return 0;
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#include <stdio.h>

int main()

{
int1i, j;
i=6; j=8;
printf(“%d,%d\n”, i++, j++);
return 0;

}
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@ EQMEEREL, K printf 1A .
printf("%d,%d\n", ++1, ++j );
@ FRUCH printf AR
printf("%d,%d,%d,%d\n",i,j,i++,j++);
® HFHA:
main()
{
int i, j, m=0, n=0;
i=6: j=8;
m+=1i++n-=-j;
printf("i=%d,j=%d,m=%d,n=%d\n",i,j,m,n);
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#include <stdio.h>
int main()
{
unsigned short a;
a=-1;
int b;
b=2147483647,
printf("%d\n",a);
printf("%d\n",b+1);
return 0;
}
2)
#include <stdio.h>
int main()
{
int x=10;
int y=x++;
printf("%d,%d",(x++,y),y++);
return 0;
}
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